Efficiency vs P,

+0.05p T T

= E : : :

D.045F - e AR

> E : : :

0 0.04F +ererireeen B RPN

o E : : :

D035 --xeeee i Fassneseeees e sneenee

o : : : :
0.03F+++eerreivnesrenenes S e

0.025F -+ f SHU—- S S—
0.02F -+ B S —
o.o15§—------$--1§ ------------ S A—
001— ------------ ------------ ------------

0.005E++++esesiseeenenes R e
- T A R A

Ratio

e R e oo

L s s

107 1 10 prT (Ge\})o3

—=— DQM_V0001_R000000001__Global__cmssw__RECO
—e— DQM_V0001_R000000001__Global__mkFitOriginal__RECO
—— DQM_V0001_R000000001__Global__mkFitNewALL__RECO

=0.05¢
o F i i
R S S S
(C) F . . . . .

R e A A

o E : : : . :
0 )| RTTRES SOTOY N A .
v E : : : : :
0.025F -+ l :

oy
i

Ratio




	Contents
	Page 1


